N = O &

20158 20let SAIEFEII=2SSEH BHAlL

AP & A A

FA ZBHISAD
M sA)|HSHXR
cel A0 I ML(SLIILSLIIS2ESESN) (et &)
S - EH - SR(3H) - ITAR - BaR ofj e o fimE==]
S M Al 4,710,550 4,692,550 18,000
sSHLSEXE 4,710,550 4,692,550 18,000
EAI|Y 2MH JA(SAILSHIIS2ESLS) 4,710,550 4,692,550 18,000
SAIHSHIIS2EY2d 4,710,550 4,692,550 18,000
201 Ler=gH| 1,050 1,050 0
01 At2t2|H 1,050 1,050 0
Oo=2g=g 1,050
0.ZAIIAS LIRS B4
70,0002 %521+32 1,050
202 044 500 500 0
01 =LHOHI 500 500 0
O SA)|Z2HAHIFL 04| 500
0 a2 PRFA 2420
50,00024+33]x22! 300
0 SAIILAEHZAL OIH] 20,0002 *10€*12! 200
307 glztolA 728,000 710,000 18,000
08 OIXI2 A= 728,000 710,000 18,000
02010 Ol AkXIeY 2H 1,000,000,000&+0.04 40,000
02011 OIAkXtY 2H 1,700,000,000&+0.04 68,000
020124 OIAtRIH 2&  2,000,000,000&*0.04 80,000
02013 OIXtXIY 2&  4,500,000,00024+0.04 180,000
020144 OIXFRIH 2&  6,000,000,000&*0.04 240,000
020158 SAJ1Y SAt= OIAXIY 2d
6.,000,000,000&*0.02 120,000
706 JIEHHS el 3,981,000 3,981,000 0
03 HE= 3,981,000 3,981,000 0
OsMIgsdIIanEgs 3,981,000,000& 3,981,000
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